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8,7 a) Forthe reaction: A + 3B 9 AD;, the rate constan

s of the reatvion?
b) Given the following graphs, predict the order of the reaction
s !
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9 Write the mechanism for dehydration of ethano! at 413K
\

\

10 How is ethanol abtained commercially by fermentation process ) What ts denatured alcohe xS
x

11 Thaltium chloride, TIC! crystallises in either simpte cubic lattice of face centered Cubic attice < 1<l ‘~"“

’ ’ 3 SN 5 .
with T1' fons In the boles. If the density of the solid is 9.00 g cm ™ and edge of the it ool 15 3.50 ¥ &0 %
what is the unit cell geometry? { Atomic mass: Ti» 204u, €I 1550 \

-

. - . nt 2 h
127 A mixture containing equal number of maoles of hexane | 1 pt » 69°C ) and cyclohesane (D RI=8SILIB

heated
1) What conditions determine the temperature at which the lguid bous?
) What do the refative boiling points show about the refative strengths of the mtermotecuiat torges
the two substances?
i) Would you expect the mixture to boil below 69, betweoen 69°C and 81°C, or above S1°C
Iv) Compare the composition of the vapour with that of the higuid
v) What separation technique depends on this principle ?

vl) Give one Industrial application of the separation method

13 Ahe electrical resistance of a column of 0.05 M NaOM solution of diameter 1 cm and hength S50 cm 18 5.55 x

)
\ 10 ahm. Calculate its resistivity, conductivity and molar conductivity.
.

14 Caiculate the emf of the cell In which the following reaction takes place
¥ Nils) + 2AgT(0.002M) = NIT(0.160M) + 2Ag(s)

Given: £ + 1.08v 1

1%  The reaction between A and 8 is first order with respect to A and zero order with respect to 8 Fillin the

o blanks X,Y and Z in the following table
| experiment | (Al/maol L . [B8)/mol L Initial rate /mol L min
} 1) ' 1 !
“ 'Ul | 0.1 2.0x10
[ 1 | X 0.2 [ 4.0%10
| 0.4 | 0.4 v
| : : .
v Z {02 20x10°
OR
for a first order reaction, R = P, prove that the time for 75% completion of the reaction is twice the
time for the reaction to be 50% complete -
g
16  pAlrst order reaction is 50% complete in 40 minutes at 27°C and in 20 minutes & 37°C. Calculate the

=" energy of activation










